Matching Exercise: Chapter Five
Match the terms on the left with the most appropriate description on the right

	Landslide election


	An election which gives the

winner a large majority and

which is also a turning

point, bringing in a new party to government.

	Tactical voting
	A way of voting that involves the voter in deciding to vote for anyone who has a chance of defeating the candidate of a particular party.

	New Labour
	The brand of the reformed Labour Party and its new social democratic policies.

	Spin
	A desire to control the media agenda, to present all government information and all public policy in the best possible light.

	One-party dominance
	A system where only one political party can realistically become the government.


